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c) What were the salient features of the agrarian
reforms undertaken under the First Five Year Plan?

Crtically examine its impact on the Indian economy.
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[PoLiTiICAL ECONOMY WITH SPECIAL REFERENCE TO INDIA]
Time : Two hours Full Marks : 30

The figures in the margin indicate full marks.

Answer any three of the following: 5x3=15

a) Briefly discuss the major features of economic
nationalism as an approach to political economy.

b) Analyze the ‘linear stages of growth’ theory.

c) Comment on the significance of Community
Development Projects for the Indian economy in the
1950s.

d) Discuss the distinguishing features of the Industrial
Policy Resolution of 1956.

e) What do you understand by ‘liberalization by stealth’
of the Indian economy from 1970s to 1980s?

Answer any one of the following: 15x1=15

a) Discuss the role of the three dominant groups in the
Indian political economy. How did the Indian state
respond to their demands? 7+8

b) Explain the idea of primitive accumulation. How
does political society manage the problems of
capitalist accumulation in the post-liberalization

economy in India? 7+8
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